AS SKILLS CHECKS

Half Term 4C (ANSWERS)

Week 1

1 120 = 200e 1%

el =06
-10k=1In0.6

In0.6
k=
-10

k=0.0511

2 | log,(x+3)— log,2 =log, 3x

log, (xf) = log, 3x

(x+3)=3x 6x=x+3 5x=3 X

I
wilw

3| p+3g=5 3p+9g=15
Ip+4g=5
5q=10

q=2 p=-1

4| [3x?—2x+4dx=x3—x?4+4x+c

5|\ &x-1)-1+W-1)¢-1-23=0
(x-1)P+(y-1)=25
Centre (1, 1) Gradient of line from centre to (54) =

Gradient of tangent = —g (v-4)= —g (x-5)

3y + 4x =32

3

4
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Half Term 4C (ANSWERS) Week 2
1
(Bx+1)log 3 =log 18
3xlog 3 +log3 =log18
3xlog3 =logé6
__ loge
o 3log3
2 %10932 —2log 4 + log64
1
= log325 — 2log 2% + log2°
= log2 —4log 2 + 6log?2
= log &
3| B=[7] [4B|= v&+10?
=+v116
N \/m
1BM| ===
=+/29
4| [10x —3x2+8dx = 5x>—x3+8x+c
5

(x-3)02-9+(y-2)2-4-23=0
(x-3)2+(y-2)? =67

Centre (3, 2) Radius 6
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Half Term 4C (ANSWERS)

Week 3

1

(3x —2)log2 = log6

3xlog2 = log24

__log24

log8

log, 64 + log; 27
log, 43 + log; 33
=3+3

=6

AB = (6-23)i+ (10 — —2)j
= 3i + 12j
|AB| = V32 + 122
= V153
=3vV17

[2x3 —5x2 —3xdx = —x*
2

5 3
—sxP—Zxf+c

3

(x+1)2+(y-37 =5

Intersects the x-axis when y = 0

(x+ 1)+ (-3)? =52
X +2x+1+9=25
X +2x-15=0
(x+5)x-3)=0

Intersects the x- axisatx =-5andx =3
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Half Term 4C (ANSWERS)

Week 4

1

30e04 =15
et =05

-04t=1In0.5
t:ln 0.5

0.4
t = 1.73 seconds

3log x + 4log y - Zlog (xy)
=log x* + log y* - log x2y?
x3y4—

o_ &
tan 30° = e

a=4%

[6x2+4x—3dx =2x3+2x*—3x+c

(16+8-6)-(2+2-3)=17

x=1-y
(1-y) +y7 =25

1-2y+2y2-25=0 y=4 x=-3 (-3 4)

22 -2y-24=0
y2-y-12=0
-4y +3)=20

y=-3 x=4 (4-3)
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Half Term 4C (ANSWERS)

Week 5

1 | 15000e703t = 5000
e-0.3t :l
3
polm
~0.3
t =366 years
2| log;(4x+1) =2
Ix+1==3
Ix+1=9
x=2
3 Magnitude of [_i] is {324+ (—4)? =5
_ 31 [ 12
5 x 4 = 20 ax[y] =5
4| [4x —3x?2+1dx=2x>—-x3+x+c
(8-8+2)-(0) =2
5| Radius=5 Centre (3,5)

(x-3)2 +(y-5)2 =25
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Half Term 4C (ANSWERS)

Week 6

1| 4000 x 1.035t= 10000
1.035t =25
tin1.035=In25
t =26.6 years
2 2log, 4 —log, 4 + %loga 16 = %logax
log, 4+ log, 4 = %logax
1
log, 4% = log, x2
1
x2=16 x =256
3 3 1
AB=M{2]
_[4 — -1(2
- [2] 0 = tan (4)
0 = 26.6°
41 [2x?+12x+18dx = §x3+6x2+18x+c
2 2 1
((+6+18)—(-2+6-18) =373
5

Centre of circle :(T
Radlius of circle :%\/82 +62=5
(x-3)+(-2)?=25

x=20

9+y2-dy+4-25=0

V2-4y-12=0

y-6)y+2)=0 ©06) (0-2)
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Half Term 4C (ANSWERS)

Week 7

— m
1 mye 60k — Mo
2

e %% =05

—60k = In 0.5

__Inos
-60

k k =0.0116

2| log,(x?>+4) =log, 8
x’+4=8

x% =3

4 f3x2+10x—2dx= x34+5x%2-2x+c

(8+20-4)-(1+5-2) =20

S| (x-2)02-4+(y+1)2-1-8=0

(x-2)+y+ 1) =13

Centre (2, -1) (Gradient of line from centre to (0,2) =
3

2
Gradient of tangent :g -2)= %X

Jy-2x=6
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